

June 20, 2025

J. Mark Frey, CPM, City Clerk The City of Alabaster, Alabama 1953 Municipal Way Alabaster, AL 35007

Subject: CERTIFIED BID TABULATION 2025 ROADWAY PAVING IMPROVMENTS THE CITY OF ALABASTER, ALABAMA InSite Project No. 25031.00

Dear Mr. Frey:

At 10:00 a.m. on Friday, June 20, 2025 bids were received for the above referenced project. Seven (7) bids were received and are summarized as follows:

	Base Bid	<u>Alternate</u> Bid No. 1	<u>Alternate</u> Bid No. 2	<u>Alternate Bid</u> <u>No. 3</u>	Total Bid
Central Alabama Asphalt & Construction Co., LLC.	\$1,274,973.13	\$174,366.04	\$148,983.65	\$141,854.22	\$1,740,177.04
Alabama Grading and Excavation LLC.	\$1,718,822.75	\$226,962.75	\$169,791.45	\$210,250.25	\$2,325,827.20
APAC-Alabama, Inc.	\$1,858,288.90	\$250,317.30	\$194,274.60	\$224,252.10	\$2,527,132.90
Dunn Construction Co., Inc.	\$1,461,636.75	\$177,867.25	\$162,355.00	\$146,680.00	\$1,948,539.00
James Paving Co., LLC.	\$1,563,937.10	\$235,177.10	\$158,815.10	\$160,317.50	\$2,118,246.80
Massey Asphalt Paving, LLC.	\$1,782,858.25	\$263,325.05	\$186,890.30	\$229,029.15	\$2,462,102.75
Wiregrass Construction Co., Inc.	\$1,780,925.75	\$208,384.25	\$174,496.00	\$199,198.25	\$2,363,004.25

A certified bid tabulation has been enclosed for your review. If you have any questions or need any additional information, please give us a call at 205-733-9696.

Sincerel InSite Engineering, LLC

ThSite Engineering, LLC Matt S. Golab, P.E.

Enclosures Certified Bid Tabulation Sign in Sheet Copy All Bidders; InSite File 25031.00/6.3

5800 Feldspar Way Hoover, Alabama 35244



THE CITY OF ALABASTER, ALABAMA 2025 ROADWAY PAVING IMPROVEMENTS INSITE CONTRACT NO. 25031.00

Bid Tabulation Friday, June 20, 2025

			1	Alabama Grad	ling and Excavation,	APAC-AI	abama, Inc.		ama Asphalt &	Dunn Construc	ction Company, Inc.	James Pav	ring Co., LLC	Massey Aspl	halt Paving, LLC	Wiregrass Construction Co., Inc.		
BASE BID	ASE BID			LLC License No. 54730 "U" License No. 43461 "U"			Construction Co., LLC License No. 17786 "U" License No.		e No. 8 "U"	License N	o. 46588 "U"	License N	o. 46580 "U"	License I	No. 5957 "U"			
Item No.	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
1	Asphalt Overlay, Furnished and In-stalled, (Per Square Yard)	5,600	TON	\$ 117.00	\$ 655,200.00	\$ 122.10	\$ 683,760.00	\$ 118.40	\$ 663,040.00	\$ 123.50	\$ 691,600.00	\$ 124.50	\$ 697,200.00	\$ 123.35	\$ 690,760.00	\$ 147.00	\$ 823,200.00	
2	Full Depth Asphalt Replacement, Fur-nished and Installed, (Per Square Yard)	8881	SY	\$ 68.50	\$ 608,348.50	\$ 89.90	\$ 798,401.90	\$ 42.23	\$ 375,044.63	\$ 51.00	\$ 452,931.00	\$ 39.00	\$ 346,359.00	\$ 48.50	\$ 430,728.50	\$ 59.00	\$ 523,979.00	
3	Milling, Furnished and Installed, (Per Square Yard)	21083	SY	\$ 5.75	\$ 121,227.25	\$ 4.10	\$ 86,440.30	\$ 2.00	\$ 42,166.00	\$ 3.25	\$ 68,519.75	\$ 3.70	\$ 78,007.10	\$ 10.65	\$ 224,533.95	\$ 3.25	\$ 68,519.75	
4	Transitional Milling, Furnished and In-stalled, (Per Square Yard)	4356	SY	\$ 6.50	\$ 28,314.00	\$ 4.30	\$ 18,730.80	\$ 2.00	\$ 8,712.00	\$ 3.25	\$ 14,157.00	\$ 16.00	\$ 69,696.00	\$ 10.65	\$ 46,391.40	\$ 11.00	\$ 47,916.00	
5	Edge Milling, Furnished and Installed, (Per Square Yard)	20324	SY	\$ 4.50	\$ 91,458.00	\$ 3.10	\$ 63,004.40	\$ 2.00	\$ 40,648.00	\$ 3.25	\$ 66,053.00	\$ 10.00	\$ 203,240.00	\$ 10.65	\$ 216,450.60	\$ 3.50	\$ 71,134.00	
6	Asphalt Leveling, (750 Tons at \$125 per Ton), Tickets Required per Truck Uti-lized, Furnished and Installed, (Per Ton)	1	ALLOW	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	\$ 93,750.00	
7	30" Valley Gutter, Furnished and Installed, (Per Cubic Yard)	75	LF	\$ 75.00	\$ 5,625.00	\$ 137.50	\$ 10,312.50	\$ 27.50	\$ 2,062.50	\$ 76.00	\$ 5,700.00	\$ 75.00	\$ 5,625.00	\$ 110.00	\$ 8,250.00	\$ 25.00	\$ 1,875.00	
8	Concrete Driveway Repair, Furnished and Installed, (Per Square Yard)	108	SY	\$ 175.00	\$ 18,900.00	\$ 220.00	\$ 23,760.00	\$ 100.00	\$ 10,800.00	\$ 147.00	\$ 15,876.00	\$ 220.00	\$ 23,760.00	\$ 170.00	\$ 18,360.00	\$ 96.50	\$ 10,422.00	
9	Shoulder Repair, Furnished and Installed, (Per Cubic Yard)	6	CY	\$ 1,250.00	\$ 7,500.00	\$ 1,600.00	\$ 9,600.00	\$ 200.00	\$ 1,200.00	\$ 690.00	\$ 4,140.00	\$ 200.00	\$ 1,200.00	\$ 349.05	\$ 2,094.30	\$ 300.00	\$ 1,800.00	
10	Omit																	
11	Striping and Signage, Furnished and In-stalled, (Per Lump Sum)	1	LS	\$ 2,500.00	\$ 2,500.00	\$ 10,450.00	\$ 10,450.00	\$ 3,150.00	\$ 3,150.00	\$ 3,800.00	\$ 3,800.00	\$ 6,000.00	\$ 6,000.00	\$ 3,500.00	\$ 3,500.00	\$ 45,000.00	\$ 45,000.00	
12	Manhole Ring and Cover Level Adjustment Rings, Furnished and Installed, (Per Each)	105	EA	\$ 500.00	\$ 52,500.00	\$ 331.40	\$ 34,797.00	\$ 200.00	\$ 21,000.00	\$ 220.00	\$ 23,100.00	\$ 200.00	\$ 21,000.00	\$ 260.00	\$ 27,300.00	\$ 420.00	\$ 44,100.00	
13	Valve Grade Adjustment, Furnished and Installed, (Per Each)	54	EA	\$ 250.00	\$ 13,500.00	\$ 83.00	\$ 4,482.00	\$ 100.00	\$ 5,400.00	\$ 60.00	\$ 3,240.00	\$ 150.00	\$ 8,100.00	\$ 69.25	\$ 3,739.50	\$ 445.00	\$ 24,030.00	
14	Demolition, Furnished and Installed, (Per Each)	2	LS	\$ 10,000.00	\$ 20,000.00	\$ 10,400.00	\$ 20,800.00	\$ 4,000.00	\$ 8,000.00	\$ 9,385.00	\$ 18,770.00	\$ 5,000.00	\$ 10,000.00	\$ 8,500.00	\$ 17,000.00	\$ 12,600.00	\$ 25,200.00	
	Total Amount Base Bid				\$ 1,718,822.75		\$ 1,858,288.90		\$ 1,274,973.13		\$ 1,461,636.75		\$ 1,563,937.10		\$ 1,782,858.25		\$ 1,780,925.75	
	E BID NO. 1 - Big Oak "A"				ling and Excavation, No. 54730 "U"		abama, Inc. 5. 43461 "U"	Central Alabama Asphalt & License No. 17786 "U"		Dunn Construction Company, Inc. License No. 8 "U"		James Paving Co., LLC License No. 46588 "U"		Massey Asphalt Paving, LLC License No. 46580 "U"		Wiregrass Construction Co., Inc. License No. 5957 "U"		
Item No.	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
Al	Asphalt Overlay, Furnished and Installed, (Per Square Yard)	790	TON	\$ 117.00	\$ 92,430.00	\$ 114.50	\$ 90,455.00	\$ 118.40	\$ 93,536.00	\$ 110.00	\$ 86,900.00	\$ 124.50	\$ 98,355.00	\$ 123.35	\$ 97,446.50	\$ 126.00	\$ 99,540.00	
A2	Full Depth Asphalt Replacement, Furnished and Installed, (Per Square Yard)	948	SY	\$ 68.50	\$ 64,938.00	\$ 105.60	\$ 100,108.80	\$ 42.23	\$ 40,034.04	\$ 48.00	\$ 45,504.00	\$ 39.00	\$ 36,972.00	\$ 57.00	\$ 54,036.00	\$ 59.00	\$ 55,932.00	
A4	Milling, Furnished and Installed, (Per Square Yard)	3,473	SY	\$ 5.75	\$ 19,969.75	\$ 4.50	\$ 15,628.50	\$ 2.00	\$ 6,946.00	\$ 2.75	\$ 9,550.75	\$ 3.70	\$ 12,850.10	\$ 11.85	\$ 41,155.05	\$ 3.25	\$ 11,287.25	
A3	Transitional Milling, Furnished and Installed, (Per Square Yard)	3750	SY	\$ 5.90	\$ 22,125.00	\$ 3.90	\$ 14,625.00	\$ 2.00	\$ 7,500.00	\$ 2.75	\$ 10,312.50	\$ 16.00	\$ 60,000.00	\$ 11.85	\$ 44,437.50	\$ 3.50	\$ 13,125.00	
A5	Asphalt Leveling, (200 Tons at \$125 per Ton), Tickets Required per Truck Utilized, Furnished and Installed, (Per Ton)	1	ALLOW	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	
A6	Striping and Signage, Furnished and Installed, (Per Lump Sum)	1	LS	\$ 2,500.00	\$ 2,500.00	\$ 4,500.00	\$ 4,500.00	\$ 1,350.00	\$ 1,350.00	\$ 600.00	\$ 600.00	\$ 2,000.00	\$ 2,000.00	\$ 1,250.00	\$ 1,250.00	\$ 3,500.00	\$ 3,500.00	
	Total Amount Alternate Bid No. 1				\$ 226,962.75		\$ 250,317.30		\$ 174,366.04		\$ 177,867.25		\$ 235,177.10		\$ 263,325.05		\$ 208,384.25	
	E BID NO. 2 - Big Oak "B"	1			ling and Excavation, No. 54730 "U"		abama, Inc. p. 43461 "U"		oama Asphalt &		ction Company, Inc. e No. 8 "U"		ring Co., LLC p. 46588 "U"		nalt Paving, LLC o. 46580 "U"		struction Co., Inc.	
		Units	Unit Price	No. 54/30 "U" Total Price	Unit Price	Total Price	Unit Price	0. 17786 "U" Total Price	Unit Price	e No. 8 "U" Total Price	License No Unit Price	Total Price	Unit Price	0. 46580 "U" Total Price	Unit Price	Total Price		
B1	Asphalt Overlay, Furnished and Installed, (Per Square Yard)	810	TON	\$ 117.00	\$ 94,770.00	\$ 118.00	\$ 95,580.00	\$ 118.40	\$ 95,904.00	\$ 112.50		\$ 124.50	\$ 100,845.00	\$ 123.35	\$ 99,913.50	\$ 126.00	\$ 102,060.00	
B2	Full Depth Asphalt Replacement, Furnished and Installed, (Per Square Yard)	555	SY	\$ 68.50	\$ 38,017.50	\$ 94.00	\$ 52,170.00	\$ 42.23	\$ 23,437.65	\$ 63.00	\$ 34,965.00	\$ 39.00	\$ 21,645.00	\$ 58.00	\$ 32,190.00	\$ 59.00	\$ 32,745.00	
B4	Milling, Furnished and Installed, (Per Square Yard)	1,383	SY	\$ 5.75	\$ 7,952.25	\$ 6.70	\$ 9,266.10	\$ 2.00	\$ 2,766.00	\$ 6.00	\$ 8,298.00	\$ 3.70	\$ 5,117.10	\$ 16.65	\$ 23,026.95	\$ 6.00	\$ 8,298.00	

Transitional Milling, Furnished and Installed, (Per Square Yard)	263	SY	\$ 5.90	\$ 1,551.7	\$ 29.50	\$ 7,758.50	\$ 2.00	\$ 526.00	\$ 9.00	\$ 2,367.00	\$ 16.00	\$ 4,208.00	\$ 20.95	\$ 5,509.8	5\$	
Asphalt Leveling, (200 Tons at \$125 per Ton), Tickets Required per Truck Utilized, Furnished and Installed, (Per Ton)	1	ALLOW	\$ 25,000.00	\$ 25,000.0	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.00	\$ 25,000.0	0\$	
Striping and Signage, Furnished and Installed, (Per Lump Sum)	1	LS	\$ 2,500.00	\$ 2,500.0	\$ 4,500.00	\$ 4,500.00	\$ 1,350.00	\$ 1,350.00	\$ 600.00	\$ 600.00	\$ 2,000.00	\$ 2,000.00	\$ 1,250.00	\$ 1,250.0	0\$	
Total Amount Alternate Bid No. 2				\$ 169,791.4	5	\$ 194,274.60		\$ 148,983.65		\$ 162,355.00		\$ 158,815.10		\$ 186,890.3	0	
					-				-						-	

11.00 \$

3,500.00 \$

25,000.00 s 2,893.00

25,000.00

3,500.00

\$ 174,496.00

В3

В5

B6



ALTERNAT	'E BID NO. 3 - Tahiti Lane				ing and Excavation, No. 54730 "U"		abama, Inc. o. 43461 "U"		ama Asphalt & o. 17786 "U"		ction Company, Inc. e No. 8 "U"		ring Co., LLC o. 46588 "U"		halt Paving, LLC Io. 46580 "U"		nstruction Co., Inc. No. 5957 "U"
Item No.	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
C1	Asphalt Overlay, Furnished and Installed, (Per Square Yard)	550	TON	\$ 117.00	\$ 64,350.00	\$ 120.50	\$ 66,275.00	\$ 118.40	\$ 65,120.00	\$ 113.00	\$ 62,150.00	\$ 124.50	\$ 68,475.00	\$ 123.35	\$ 67,842.50	\$ 145.00	\$ 79,750.00
C2	Full Depth Asphalt Replacement, Furnished and Installed, (Per Square Yard)	1114	SY	\$ 68.50	\$ 76,309.00	\$ 94.00	\$ 104,716.00	\$ 42.23	\$ 47,044.22	\$ 45.00	\$ 50,130.00	\$ 39.00	\$ 43,446.00	\$ 49.00	\$ 54,586.00	\$ 63.00	\$ 70,182.00
C3	Milling, Furnished and Installed, (Per Square Yard)	8,445	SY	\$ 5.75	\$ 48,558.75	\$ 4.00	\$ 33,780.00	\$ 2.00	\$ 16,890.00	\$ 2.50	\$ 21,112.50	\$ 3.70	\$ 31,246.50	\$ 10.65	\$ 89,939.25	\$ 3.25	\$ 27,446.25
C4	Transitional Milling, Furnished and Installed, (Per Square Yard)	175	SY	\$ 5.90	\$ 1,032.50	\$ 14.10	\$ 2,467.50	\$ 2.00	\$ 350.00	\$ 4.50	\$ 787.50	\$ 16.00	\$ 2,800.00	\$ 17.65	\$ 3,088.75	\$ 11.00	\$ 1,925.00
	Asphalt Leveling, (76 Tons at \$125 per Ton), Tickets Required per Truck Utilized, Furnished and Installed, (Per Ton)	1	ALLOW	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00	\$ 9,500.00
C6	Striping and Signage, Furnished and Installed, (Per Lump Sum)	1	LS	\$ 2,500.00	\$ 2,500.00	\$ 3,950.00	\$ 3,950.00	\$ 450.00	\$ 450.00	\$ 600.00	\$ 600.00	\$ 2,000.00	\$ 2,000.00	\$ 1,250.00	\$ 1,250.00	\$ 3,500.00	\$ 3,500.00
C7	Manhole Ring and Cover Level Adjustment Rings, Furnished and Installed, (Per Each)	9	LF	\$ 500.00	\$ 4,500.00	\$ 331.40	\$ 2,982.60	\$ 200.00	\$ 1,800.00	\$ 220.00	\$ 1,980.00	\$ 200.00	\$ 1,800.00	\$ 260.00	\$ 2,340.00	\$ 420.00	\$ 3,780.00
C8	Valve Grade Adjustment, Furnished and Installed, (Per Each)	7	EA	\$ 500.00	\$ 3,500.00	\$ 83.00	\$ 581.00	\$ 100.00	\$ 700.00	\$ 60.00	\$ 420.00	\$ 150.00	\$ 1,050.00	\$ 68.95	\$ 482.65	\$ 445.00	\$ 3,115.00
	Total Amount Alternate Bid No. 3				\$ 210,250.25		\$ 224,252.10		\$ 141,854.22		\$ 146,680.00		\$ 160,317.50		\$ 229,029.15		\$ 199,198.25

	Alabama Grading and Excavation,		APAC-Alabama, Inc.		Central Alabama Asphalt &		Dunn Construction Company, Inc.		James Paving Co., LLC		Massey Asphalt Paving, LLC		Wiregrass Construction Co., Inc.	
	License No. 54730 "U"		License No. 43461 "U"		License No. 17786 "U"		License No. 8 "U"		License No. 46588 "U"		License No. 46580 "U"		License No. 5957 "U"	
TOTAL AMOUNT OF BASE BID & ALTERNATE BIDS		\$ 2,325,827.20		\$ 2,527,132.90		\$ 1,740,177.04		\$ 1,948,539.00		\$ 2,118,246.80		\$ 2,462,102.75		\$ 2,363,004.25

**LOW BIDDER

Notes: 1. Alabama Grading and paving had math errors in total price for items and total summations were off. The amounts shown on this bid tabulation reflect acutal unit price and quantity and will be considered final numbers.

2. James Paving had math errors in total price for items and total summations were off. The amounts shown on this bid tabulation reflect acutal unit price and quantity and will be considered final numbers.



Inereby certify that the above is a true and accurate tabulation of the bids received at the City of Alabaster, Alabama City Hall Conference Room at 10:00 a.m. on Friday, June 20, 2025, for the 2025 Roadway Paving Improvements, Project No. 25031.0. ANGINEE NUT WGINEE



THE CITY OF ALABASTER, ALABAMA

2025 ROADWAY PAVING IMPROVEMENTS

INSITE PROJECT No. 25031.00

BID OPENING ATTENDANCE

FRIDAY, JUNE 20, 2025 10:00 A.M.

NAME	COMPANY	PHONE NUMBER
Fred Hankins	Alabaster	205 937-0056
Mank Frey	Alabasta	205 664 6833
WILL EVANS	INSITE	205-902-9455
MATT GOLAB	INSITE	205- 733-99 9696
Pum Congradia		
Caster Rittchard	Dunn	205-417-0178
Brett Tucker	Alabaster	205-664-6823
ROLER Williamson	MASSEY ASPHA/JPAUN	1 205 999-2332
Larry James		
Tim Reace	Alabama Greding & Excave	
KETTYWHEELEN	INSITE Eng	205-515-0512
DATTON MAGDON	<u> </u>	334-356-2360
SKIP MASSEN	MAP	205-365-1305
)		

INSITE

S.

THE CITY OF ALABASTER, ALABAMA

2025 ROADWAY PAVING IMPROVEMENTS

PROJECT NUMBER 25031.00

BID TABULATION

Wiregrass Construction Co., Inc.	TWO Oaks Construction, LLC	Southeastern Sealcoating Inc.	Massey Asphalt Paving,	James Paving Co., LLC	Dunn Construction Company, Inc.	Central Alabama Asphalt & Construction Co., LLC	¹ APAC-Alabama, Inc.	Alabama Grading and Excavation, LLC	BIDDER		
5957 "U"	58654 "U"	39074 "U"	46580 "U"	46588 "U"	8 "U"	41676 "U"	43461 "U"	54730 "U"	LICENSE NO.		
\$ 1,780,425.75	69	\$	\$ 1782,858.25	\$ 1 558 937.10	\$ 1,4761,636.75	\$ 1,274,973.13	\$ 1,8 58288.90	\$ 1,718,822.25	BASE BID NO.1 AMOUNT	Ł	
\$ 208384.25	\$	69	<u>50.526'69' *</u>	\$ 235177.00	\$ 177,867.25) <u>\$ 174,366-04</u>	\$ 250317.30	\$ 126,962.00	ALT. BID NO. 1 AMOUNT	FRIDAY, JUNE 20, 2025 10:00 AM	
\$ 174,496.00	\$	с я	s 186890.30	\$ 158,815.10	\$ 162,355.00	\$ 148,983.65	\$ 194714.60	\$ 169791.45	ALT. BID NO. 2 AMOUNT	: 20, 2025 M	A LICK
\$ 199198-25	÷	φ 	\$ 229029.15	\$ 160,317.50	\$ 146,680.00	\$ 141,854.22	\$ 224,252.10	\$ 210/250.00	ALT. BID NO. 3 AMOUNT		
\$ 2,363,004.25	69	9	3, 2,402,02,75	\$ 2,11 3,246,70	\$ 1,948,539.00	\$	\$ <u>2527,132.90</u>	<u>\$ 2,3 25,826</u> ,20	TOTAL BID AMOUNT		

www.insiteengineering.org

Phone: 205.733.9696 Fax:205.733.9697

5800 Feldspar Way Hoover, Alabama 35244